

On the Fekete-Szegö problem associated with generalized fractional operator

Ammar S. Issa*, Maslina Darus

Department of Mathematical Sciences, Universiti Kebangsaan Malaysia, 43600, Bangi, Selangor, Malaysia

(Communicated by Mugur Alexandru Acu)

Abstract

In this paper, the classical Fekete-Szegö problem is studied regarding a class of univalent functions generated using a generalized fractional differential operator. The results presented in the main theorem are new generalizations for well-known results.

Keywords: Analytic functions, fractional operator, univalent functions, normalized functions, Fekete-Szegö problems

2020 MSC: 30C45

1 Introduction

We denote by A the functions in the unit disc $U = \{z : 0 < |z| < 1\}$ that has the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, a_n \geq 0. \quad (1.1)$$

Let S denote the class of univalent functions in the unit disk. The Hadamard convolution of the functions $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ and $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ is given by:

$$f(z) * g(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n.$$

For a class S of analytic functions, Fekete and Szegö [5] obtained sharp upper bound for $|a_3 - \mu a_2^2|$, when μ is real. Later on, this inequality has received a huge interest from many researchers. For very recent results regarding Fekete-Szegö problem studied for different new classes of functions see the papers [2, 7, 8, 13, 16] and [17]. In this paper, we obtain sharp upper bound for the Fekete-Szegö inequality regarding a certain subclass of S , generated using the generalized fractional operator that has been introduced by Issa and Darus [9], given as follows:

$$D_z^{\nu, m} f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(2-m\nu)}{\Gamma(n-m\nu+1)} a_n z^n,$$

*Corresponding author

Email addresses: p102957@siswa.ukm.edu.my (Ammar S. Issa), maslina@ukm.edu.my (Maslina Darus)

where, applications of this operator can be found on [8] and [10]. Now we define the class by $\mathcal{M}^{\nu,m}(\Phi, \Psi; \lambda, \alpha, \beta)$, as follows:

Definition 1.1. A function $f(z) = z + \sum_{n=2}^{\infty} a_n z^n, a_n \geq 0$ belongs to the class $\mathcal{M}^{\nu,m}(\Phi, \Psi; \lambda, \alpha, \beta); 0 \leq \alpha < 1, 0 \leq \lambda \leq 1, \beta > 0, 0 \leq \nu < 1$, and $m = 1, 2, \dots$, if there exist a function $g \in A$ such that:

$$\operatorname{Re} \left(\frac{\lambda z^2 (D_z^{\nu,m} f(z))'' + z (D_z^{\nu,m} f(z))'}{\lambda z g'(z) + (1-\lambda)g(z)} \right) > \alpha, z \in U \tag{1.2}$$

where $g(z) = z + b_2 z + b_3 z^2 + \dots$, is analytic and satisfies

$$\left| \arg \left(\frac{g(z) * \Phi(z)}{g(z) * \Psi(z)} \right) \right| < \frac{\pi\beta}{2}, \tag{1.3}$$

for some $\Phi(z) = z + \sum_{n=2}^{\infty} \varpi_n z^n$, and $\Psi(z) = z + \sum_{n=2}^{\infty} \gamma_n z^n$, both are analytic in U such that $g(z) * \Psi(z) \neq 0, \varpi_n \geq 0, \gamma_n \geq 0$, and $\varpi_n \geq \gamma_n (n \geq 2)$.

Note that $\mathcal{M}^{\nu,0}(\Phi, \Psi; \lambda, \alpha, \beta)$ give us the class $\mathcal{M}(\Phi, \Psi; \lambda, \alpha, \beta)$ that was defined by Darus in [4],

$$\mathcal{M}^{\nu,0} \left(\frac{z}{(1-z)^2}, \frac{z}{1-z}; 0, 0, \beta \right) = K(\beta),$$

the class of closed-to-convex that was defined by Chonwearayoot et al. in [1], and $\mathcal{M}^{\nu,0} \left(\frac{z}{(1-z)^2}, \frac{z}{1-z}; 0, 0, 1 \right)$ is the class of normalized close-to-convex functions was defined by Kaplan in [12].

Furthermore, $\mathcal{M}^{\nu,0} \left(\frac{z}{(1-z)^2}, \frac{z}{1-z}; 0, \alpha, \beta \right) = K(\alpha, \beta)$ is the class of normalized close-to-convex defined by Darus and Thomas in [3]. We have to mention that the result we introduce in the following section generalizes various results obtained by many researchers.

2 Main result

To get our main result we need the following definition and lemma:

Definition 2.1. The analytic function $p(z)$ in U belongs to the class P , if $p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + \dots$ and $\operatorname{Re} p(z) > 0$ for all z in the open unit disk.

Lemma 2.1. [15] Let $h(z) = 1 + c_1 z + c_2 z^2 + \dots$, be analytic in the open unit disk with $\operatorname{Re} h(z) > 0$ for all $z \in U$. Then

$$\left| c_2 - \frac{c_1^2}{2} \right| \leq 2 - \frac{|c_1|^2}{2}. \tag{2.1}$$

Now we present and prove our main result in the following theorem.

Theorem 2.2. Let $f(z) = z + a_2 z^2 + a_3 z^3 + \dots$, be a function in the class $\mathcal{M}^{\nu,m}(\Phi, \Psi; \lambda, \alpha, \beta); 0 \leq \alpha < 1, 0 \leq \lambda \leq 1, \beta > 0, 0 \leq \nu < 1$, and $m = 1, 2, \dots$. If $3\eta\mu \geq 2\delta^2 + 4\delta\gamma_2$, where $\delta = \varpi_2 - \gamma_2, \eta = \varpi_3 - \gamma_3$ and $\mu \geq 1$. Then we have the sharp inequality

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{\beta^2}{3\delta^2 \eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m) \delta(\delta + 2\gamma_2)\} \\ &\quad - \frac{3\delta\mu\alpha(1-\alpha)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\ &\quad + \frac{2\beta(1-\alpha)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \{3\mu C_4(\nu, m) - 2C_3^2(\nu, m)(1+\lambda)^2\} \\ &\quad + \frac{(1-\alpha)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \{3\mu\delta C_4(\nu, m)(1+2\lambda) - 2C_3^2(\nu, m)(1+\lambda)^2\}, \end{aligned}$$

where, $C_3(\nu, m) = \frac{\Gamma(3)\Gamma(2-m\nu)}{\Gamma(3-m\nu)}$ and $C_4(\nu, m) = \frac{\Gamma(4)\Gamma(2-m\nu)}{\Gamma(4-m\nu)}$.

Proof . Since $f(z) \in \mathcal{M}^{\nu,m}(\Phi, \Psi; \lambda, \alpha, \beta)$, it follows from (1.2) that there exist $q(z) = 1 + q_1z + q_2z^2 + \dots$, with $q(z) \in P$, and $g(z) = z + b_2z^2 + b_3z^3 + \dots \in A$, such that

$$\lambda z^2 (D_z^{\nu,m} f(z))'' + z (D_z^{\nu,m} f(z))' = \{\alpha + (1 - \alpha)q(z)\} \left\{ \lambda z g'(z) + (1 - \lambda)g(z) \right\},$$

which implies

$$\begin{aligned} & z + 2C_3(\nu, m)(\lambda + 1)a_2z^2 + 3C_4(\nu, m)(1 + 2\lambda)a_3z^3 + \dots \\ & = z + \{(1 + \lambda)b_2 + (1 - \alpha)q_1\}z^2 + \{(1 + 2\lambda)b_3 + (1 - \alpha)(1 + \lambda)q_1b_2 + (1 - \alpha)q_2\}z^3 + \dots \end{aligned}$$

Equating the coefficients in the last equation implies

$$2C_3(\nu, m)(1 + \lambda)a_2 = (1 + \lambda)b_2 + (1 - \alpha)q_1, \tag{2.2}$$

and

$$3C_4(\nu, m)(1 + 2\lambda)a_3 = (1 + 2\lambda)b_3 + (1 - \alpha)(1 + \lambda)q_1b_2 + (1 - \alpha)q_2. \tag{2.3}$$

Moreover, from (1.3), there exist a function in P say, $p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \dots$, such that

$$g(z) * \Phi(z) = (g(z) * \Psi(z))p^\beta(z),$$

which implies

$$\begin{aligned} & (z + b_2z^2 + b_3z^3 + \dots) * (z + \varpi_2z^2 + \varpi_3z^3 + \dots) \\ & = \{(z + b_2z^2 + b_3z^3 + \dots) * (z + \gamma_2z^2 + \gamma_3z^3 + \dots)\} (1 + p_1z + p_2z^2 + p_3z^3 + \dots)^\beta. \end{aligned}$$

So,

$$\begin{aligned} z + b_2\varpi_2z^2 + b_3\varpi_3z^3 + \dots & = \{z + b_2\gamma_2z^2 + b_3\gamma_3z^3 + \dots\} \\ & \left\{ 1 + \beta p_1z + \left(\beta p_2 + \left(\frac{\beta^2}{2} - \frac{\beta}{2} \right) p_1^2 \right) z^2 + \dots \right\} \\ & = z + (p_1\beta + \gamma_2b_2)z^2 \\ & + \left(p_1\beta b_2\gamma_2 + \beta p_2 + \left(\frac{\beta^2}{2} - \frac{\beta}{2} \right) p_1^2 + \gamma_3b_3 \right) z^3 + \dots \end{aligned}$$

Equating the coefficients in the last equality implies

$$b_2\varpi_2 = p_1\beta + \gamma_2b_2,$$

which give us

$$b_2 = \frac{p_1\beta}{\delta}. \tag{2.4}$$

Also,

$$\begin{aligned} b_3\varpi_3 & = p_1\beta b_2\gamma_2 + \beta p_2 + \left(\frac{\beta^2}{2} - \frac{\beta}{2} \right) p_1^2 + \gamma_3b_3 \\ b_3\varpi_3 - \gamma_3b_3 & = p_1\beta b_2\gamma_2 + \beta p_2 + \frac{\beta^2}{2}p_1^2 - \frac{\beta}{2}p_1^2 \\ (\varpi_3 - \gamma_3)b_3 & = \beta \left(p_1b_2\gamma_2 + p_2 + \frac{\beta}{2}p_1^2 - \frac{1}{2}p_1^2 \right) \end{aligned}$$

$$\begin{aligned}\eta b_3 &= \beta \left(p_1 \frac{p_1 \beta}{\delta} \gamma_2 + p_2 + \frac{\beta}{2} p_1^2 - \frac{1}{2} p_1^2 \right) = \beta \left(p_2 + p_1^2 \frac{\beta}{\delta} \gamma_2 + \frac{\beta}{2} p_1^2 - \frac{1}{2} p_1^2 \right) \\ &= \beta \left(p_2 + p_1^2 \left(\frac{\beta}{\delta} \gamma_2 + \frac{\beta}{2} - \frac{1}{2} \right) \right) = \beta \left(p_2 + p_1^2 \left(\frac{2\beta \gamma_2}{2\delta} + \frac{\delta \beta}{2\delta} - \frac{\delta}{2\delta} \right) \right),\end{aligned}$$

which implies

$$b_3 = \frac{\beta}{\eta} \left\{ p_2 + \left(\frac{\beta(\delta + 2\gamma_2) - \delta}{2\delta} \right) p_1^2 \right\}. \quad (2.5)$$

So from (2.1),(2.2),(2.3),(2.4) and (2.5) we get

$$a_2 = \frac{p_1 \beta}{2\delta C_3(\nu, m)} + \frac{(1 - \alpha) q_1}{2(1 + \lambda) C_3(\nu, m)}, \quad (2.6)$$

and

$$\begin{aligned}a_3 &= \frac{1}{3C_4(\nu, m)(1 + 2\lambda)} \{ (1 + 2\lambda) b_3 + (1 - \alpha)(1 + \lambda) q_1 b_2 + (1 - \alpha) q_2 \} \\ &= \frac{(1 + 2\lambda) b_3}{3C_4(\nu, m)(1 + 2\lambda)} + \frac{(1 - \alpha)(1 + \lambda) q_1 b_2}{3C_4(\nu, m)(1 + 2\lambda)} + \frac{(1 - \alpha) q_2}{3C_4(\nu, m)(1 + 2\lambda)}.\end{aligned}$$

Indeed,

$$a_3 = \frac{\beta}{3\eta C_4(\nu, m)} \left\{ p_2 + \left(\frac{\beta(\delta + 2\gamma_2) - \delta}{2\delta} \right) p_1^2 \right\} + \frac{(1 - \alpha)(1 + \lambda) q_1 p_1 \beta}{3\delta C_4(\nu, m)(1 + 2\lambda)} + \frac{(1 - \alpha) q_2}{3C_4(\nu, m)(1 + 2\lambda)}. \quad (2.7)$$

Now, we will use (2.1),(2.2),(2.3),(2.4),(2.5),(2.6) and (2.7) to get the required result as follows:

$$\begin{aligned}a_3 - \mu a_2^2 &= \frac{\beta p_2}{3\eta C_4(\nu, m)} + \frac{\beta^2(\delta + 2\gamma_2) p_1^2}{6\delta \eta C_4(\nu, m)} - \frac{\beta \delta p_1^2}{6\delta \eta C_4(\nu, m)} + \frac{(1 - \alpha)(1 + \lambda) q_1 p_1 \beta}{3\delta C_4(\nu, m)(1 + 2\lambda)} + \frac{(1 - \alpha) q_2}{3C_4(\nu, m)(1 + 2\lambda)} \\ &\quad - \frac{\mu \beta^2 p_1^2}{4\delta^2 C_3^2(\nu, m)} - \frac{2\beta(1 - \alpha) \mu q_1 p_1}{4\delta C_3^2(\nu, m)(1 + \lambda)} - \frac{(1 - \alpha)^2 \mu q_1^2}{4(1 + \lambda)^2 C_3^2(\nu, m)} \\ &\quad + \frac{2(1 - \alpha) q_1^2}{12C_4(\nu, m)(1 + 2\lambda)} - \frac{2(1 - \alpha) q_1^2}{12C_4(\nu, m)(1 + 2\lambda)} \\ &= \left\{ \frac{(1 - \alpha) q_2}{3C_4(\nu, m)(1 + 2\lambda)} - \frac{2(1 - \alpha) q_1^2}{12C_4(\nu, m)(1 + 2\lambda)} \right\} + \left\{ \frac{\beta p_2}{3\eta C_4(\nu, m)} - \frac{\beta \delta p_1^2}{6\delta \eta C_4(\nu, m)} \right\} \\ &\quad + \left\{ \frac{2(1 - \alpha) q_1^2}{12C_4(\nu, m)(1 + 2\lambda)} - \frac{(1 - \alpha)^2 \mu q_1^2}{4(1 + \lambda)^2 C_3^2(\nu, m)} \right\} + \left\{ \frac{(1 - \alpha)(1 + \lambda) q_1 p_1 \beta}{3\delta C_4(\nu, m)(1 + 2\lambda)} - \frac{2\beta(1 - \alpha) \mu q_1 p_1}{4\delta C_3^2(\nu, m)(1 + \lambda)} \right\} \\ &\quad + \left\{ \frac{\beta^2(\delta + 2\gamma_2) p_1^2}{6\delta \eta C_4(\nu, m)} - \frac{\mu \beta^2 p_1^2}{4\delta^2 C_3^2(\nu, m)} \right\},\end{aligned}$$

implies

$$\begin{aligned}a_3 - \mu a_2^2 &= \frac{(1 - \alpha)}{3C_4(\nu, m)(1 + 2\lambda)} \left\{ q_2 - \frac{q_1^2}{2} \right\} + \frac{\beta}{3\eta C_4(\nu, m)} \left\{ p_2 - \frac{p_1^2}{2} \right\} \\ &\quad + (1 - \alpha) q_1^2 \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda)}{12C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)^2} \right\} \\ &\quad + (1 - \alpha) q_1 p_1 \beta \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3C_4(\nu, m) \mu(1 + 2\lambda)}{6\delta C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)} \right\} \\ &\quad + \beta^2 p_1^2 \left\{ \frac{2C_3^2(\nu, m) \delta(\delta + 2\gamma_2) - 3\mu \eta C_4(\nu, m)}{12\delta^2 \eta C_4(\nu, m) C_3^2(\nu, m)} \right\}.\end{aligned} \quad (2.8)$$

Secondly, we will complete the proof by applying the technique introduced by London [14]. Now, assume that $a_3 - \mu a_2^2$ is positive, then from (2.8) and by substituting $p_1 = 2re^{i\theta}$ and $q_1 = 2Re^{i\varphi}$, $0 \leq r \leq 1, 0 \leq R \leq 1, 0 \leq \theta \leq 2\pi$, and $0 \leq \varphi \leq 2\pi$, we obtain:

$$\begin{aligned} 3 \operatorname{Re} (a_3 - \mu a_2^2) &= \frac{(1 - \alpha)}{C_4(\nu, m)(1 + 2\lambda)} \operatorname{Re} \left\{ q_2 - \frac{q_1^2}{2} \right\} + \frac{\beta}{\eta C_4(\nu, m)} \operatorname{Re} \left\{ p_2 - \frac{p_1^2}{2} \right\} \\ &+ (1 - \alpha) \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda)}{4C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)^2} \right\} \operatorname{Re} q_1^2 \\ &+ \beta(1 - \alpha) \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3C_4(\nu, m)\mu(1 + 2\lambda)}{2\delta C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)} \right\} \operatorname{Re} p_1 q_1 \\ &+ \beta^2 \left\{ \frac{2C_3^2(\nu, m)\delta(\delta + 2\gamma_2) - 3\mu\eta C_4(\nu, m)}{4\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} \operatorname{Re} p_1^2. \end{aligned}$$

Consequently, by Lemma 2.1 we get

$$\begin{aligned} 3 \operatorname{Re} (a_3 - \mu a_2^2) &\leq \frac{2(1 - \alpha)}{C_4(\nu, m)(1 + 2\lambda)} (1 - R^2) + \frac{2\beta}{\eta C_4(\nu, m)} (1 - r^2) \\ &+ (1 - \alpha) \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda)}{4C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)^2} \right\} 4R^2 \cos 2\theta \\ &+ \beta(1 - \alpha) \left\{ \frac{2(1 + \lambda)^2 C_3^2(\nu, m) - 3C_4(\nu, m)\mu(1 + 2\lambda)}{2\delta C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)} \right\} 4rR \cos(\varphi + \theta) \\ &+ \beta^2 \left\{ \frac{2C_3^2(\nu, m)\delta(\delta + 2\gamma_2) - 3\mu\eta C_4(\nu, m)}{4\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} 4r^2 \cos 2\varphi \\ &\leq \frac{2(1 - \alpha)}{C_4(\nu, m)(1 + 2\lambda)} (1 - R^2) + \frac{2\beta}{\eta C_4(\nu, m)} (1 - r^2) \\ &+ (1 - \alpha) \left\{ \frac{3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda) - 2(1 + \lambda)^2 C_3^2(\nu, m)}{C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)^2} \right\} R^2 \\ &+ 2\beta(1 - \alpha) \left\{ \frac{3C_4(\nu, m)\mu(1 + 2\lambda) - 2(1 + \lambda)^2 C_3^2(\nu, m)}{\delta C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)} \right\} rR \\ &+ \beta^2 \left\{ \frac{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta + 2\gamma_2)}{\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} r^2 \\ &= H(r, R). \end{aligned}$$

Next, we will identify the sign of $H_{rr}H_{RR} - (H_{rR})^2$ to illustrate the maximum value of $H(r, R)$, as follows:

$$\begin{aligned} H_{rr}H_{RR} - (H_{rR})^2 &= \left\{ \frac{-4\beta}{\eta C_4(\nu, m)} + 2\beta^2 \left\{ \frac{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta + 2\gamma_2)}{\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} \right\} \\ &\left\{ \frac{-4(1 - \alpha)}{C_4(\nu, m)(1 + 2\lambda)} \right. \\ &\left. + 2(1 - \alpha) \left\{ \frac{3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda) - 2(1 + \lambda)^2 C_3^2(\nu, m)}{C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)^2} \right\} \right\} \\ &- \left\{ 2\beta(1 - \alpha) \frac{3C_4(\nu, m)\mu(1 + 2\lambda) - 2(1 + \lambda)^2 C_3^2(\nu, m)}{\delta C_3^2(\nu, m) C_4(\nu, m)(1 + 2\lambda)(1 + \lambda)} \right\}^2 \\ &= \frac{16\beta(1 - \alpha)}{\eta(1 + 2\lambda) C_4^2(\nu, m)} - 8\beta(1 - \alpha) \left\{ \frac{3\mu(1 - \alpha) C_4(\nu, m)(1 + 2\lambda) - 2(1 + \lambda)^2 C_3^2(\nu, m)}{C_3^2(\nu, m) C_4^2(\nu, m)\eta(1 + 2\lambda)(1 + \lambda)^2} \right\} \end{aligned}$$

$$\begin{aligned}
& -8(1-\alpha)\beta^2 \left\{ \frac{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)}{\delta^2\eta C_4^2(\nu, m) C_3^2(\nu, m)(1+2\lambda)} \right\} \\
& + 4\beta^2(1-\alpha) \left[\begin{aligned} & \left\{ \frac{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)}{\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} \\ & \left\{ \frac{3\mu(1-\alpha)C_4(\nu, m)(1+2\lambda) - 2(1+\lambda)^2 C_3^2(\nu, m)}{C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \right\} \end{aligned} \right] \\
& - 4\beta^2(1-\alpha)^2 \left\{ \frac{3C_4(\nu, m)\mu(1+2\lambda) - 2(1+\lambda)^2 C_3^2(\nu, m)}{\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)} \right\}^2 \\
& < 0.
\end{aligned}$$

Hence the function $H(r, R)$ attains its maximum value on the boundary of the unit disk. Therefore our inequality follows by observing that

$$\begin{aligned}
|a_3 - \mu a_2^2| & \leq \frac{1}{3}H(r, R) \leq \frac{1}{3}H(1, 1) \leq \beta^2 \left\{ \frac{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)}{3\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \right\} \\
& + (1-\alpha) \left\{ \frac{3\mu(1-\alpha)C_4(\nu, m)(1+2\lambda) - 2(1+\lambda)^2 C_3^2(\nu, m)}{3C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \right\} \\
& + 2\beta(1-\alpha) \left\{ \frac{3C_4(\nu, m)\mu(1+2\lambda) - 2(1+\lambda)^2 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)} \right\} \\
& = \frac{\beta^2}{3\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)\} \\
& + \frac{6\beta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{4\beta(1-\alpha)(1+\lambda)^3 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& + \frac{3\delta\mu(1-\alpha)^2 C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{2\delta(1-\alpha)(1+\lambda)^2 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& = \frac{\beta^2}{3\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)\} \\
& + \frac{6\beta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{4\beta(1-\alpha)(1+\lambda)^3 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& + \frac{3\delta\mu(1-2\alpha+\alpha^2)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{2\delta(1-\alpha)(1+\lambda)^2 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& = \frac{\beta^2}{3\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)\} \\
& + \frac{6\beta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{4\beta(1-\alpha)(1+\lambda)^3 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& + \frac{3\delta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} + \frac{3\delta\mu\alpha(\alpha-1)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& - \frac{2\delta(1-\alpha)(1+\lambda)^2 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& = \frac{\beta^2}{3\delta^2\eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m)\delta(\delta+2\gamma_2)\} - \frac{3\delta\mu\alpha(1-\alpha)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& + \frac{6\beta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{4\beta(1-\alpha)(1+\lambda)^3 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\
& + \frac{3\delta\mu(1-\alpha)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} - \frac{2\delta(1-\alpha)(1+\lambda)^2 C_3^2(\nu, m)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2}.
\end{aligned}$$

Finally, we get:

$$|a_3 - \mu a_2^2| \leq \frac{\beta^2}{3\delta^2 \eta C_4(\nu, m) C_3^2(\nu, m)} \{3\mu\eta C_4(\nu, m) - 2C_3^2(\nu, m) \delta(\delta + 2\gamma_2)\} \\ - \frac{3\delta\mu\alpha(1-\alpha)C_4(\nu, m)(1+2\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \\ + \frac{2\beta(1-\alpha)(1+\lambda)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \{3\mu C_4(\nu, m) - 2C_3^2(\nu, m)(1+\lambda)^2\} \\ + \frac{(1-\alpha)}{3\delta C_3^2(\nu, m) C_4(\nu, m)(1+2\lambda)(1+\lambda)^2} \{3\mu\delta C_4(\nu, m)(1+2\lambda) - 2C_3^2(\nu, m)(1+\lambda)^2\},$$

as required. The equality is attained by choosing $\nu = 0$, $p_1 = q_1 = 2i$ and $p_2 = q_2 = -2$ in (2.8). \square

Remark 2.1. Letting $\nu = 0$ in Theorem 2.2, we have the result by Darus [4].

Remark 2.2. Letting $\nu = 0$ and $\lambda = 0$ in Theorem 2.2, we have the result by Frasin and Darus [6].

Remark 2.3. Letting $\Phi(z) = \frac{z}{(1-z)^2}$, $\Psi(z) = \frac{z}{1-z}$, $\lambda = \alpha = 1$, and $\nu = 0$ in Theorem 2.2, we have the result by Jahangiri [11].

Finally, we ought to mention that we can gain a lot of results from Theorem 2.2 by various choices of $\Phi(z)$ and $\Psi(z)$.

Acknowledgement

The work here is supported by MOHE grant: FRGS/1/2019/STG06/UKM/01/1.

References

- [1] A. Chonweerayoot, D.K. Thomas and W. Upakarnitikaset, *On the coefficient of close-to-convex functions*, Math. Japon., 36 (1991), 819–826.
- [2] L.I. Cotîrlă, *New classes of analytic and bi-univalent functions*, AIMS Math. **6** (2021), no. 10, 10642–10651.
- [3] M. Darus and D.K. Thomas, *On the Fekete-Szegö problem for close-to-convex functions*, Math. Japon. **47** (1998), 125–132.
- [4] M. Darus, *On the coefficient problem with Hadamard product*, J. Anal. Appl. **2** (2004), 87–93.
- [5] M. Fekete and G. Szegö, *Eine Bemerkung über ungradschlicht Funktionen*, J. London Math. Soc. **8** (1933), 85–89.
- [6] B. Frasin and M. Darus, *On the Fekete-Szegö problem using Hadamard product*, Int. Math. J. **3** (2003), 1289–1296.
- [7] O. Halit and L.I. Cotîrlă, *Fekete-Szegö inequalities for some certain subclass of analytic functions defined with Ruscheweyh derivative operator*, Axioms **11** (2022), no. 10, 560.
- [8] A. Issa and M. Darus, *Fekete-Szegö problem of strongly -close-toconvex functions associated with generalized fractional operator*, Georg. Math. J. 2022. Accepted. <https://doi.org/10.1515/gmj-2022-2197>.
- [9] A. Issa and M. Darus, *Generalized complex fractional derivative and integral operators for the unified class of analytic functions*, Int. J. Math. Comput. Sci. **15** (2020), no. 3, 857–868.
- [10] A. Issa and M. Darus, *Application of generalized fractional operators in subclass of uniformly convex functions*, J. Math. Anal. **13** (2022), no. 5, 21–34.
- [11] M. Jahangiri, *A coefficient inequality for a class of close-to-convex functions*, Math. Japon. **41** (1995), no. 3, 557–559.
- [12] W. Kaplan, *Close-to-convex schlicht functions*, Mich. Math. J. **1** (1952), 169–185.

-
- [13] K.R. Karthikeyan and G. Murugusundaramoorthy, *Unified solution of initial coefficients and Fekete–Szegő problem for subclasses of analytic functions related to a conic region*, Afr. Mat. **33** (2022), no. 2, 1–12.
- [14] R.R. London, *Fekete-Szegő problem for close-to-convex functions*, Amer. Math. Soc. 117 (1993), 947–950.
- [15] C.H. Pommerenke, *Univalent Functions*, Vandenhoeek and Ruprecht, Göttingen, 1975.
- [16] H.M. Srivastava, T.G. Shaba, G. Murugusundaramoorthy, A.K. Wanas and G.I. Oros, *The Fekete-Szegő functional and the Hankel determinant for a certain class of analytic functions involving the Hohlov operator*, AIMS Math. **8** (2023), no. 1, 340–360.
- [17] S.R. Swamy and S. Altinkaya, *Fekete-Szegő functional for regular functions based on quasi-subordination*, Int. J. Nonlinear Anal. Appl. **13** (2022), no. 2, 1105–1115.